
1.Why does Arundhati Roy not want to return to ‘normality’?

Roy would like to leave the trajectory ‘smoky skies’ behind. (Climate Change).

Can’t go back to normality again, we must take this as the opportunity to improve the world.

Been afforded the opportunity to re image a new world.

2.What does she mean by the ‘doomsday machine’? 
Opportunity to leave all the bad in the world behind



3.What would you imagine a new world to look like?
A Lot better ,people have been more aware of the planet and how to treat it and look after it and nourish the world more as we have taken it for granted.
Slow down of the world 




